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POLITICAL SCIENCE (01-30)
1. Which of the following concept was adopted by Canadian constitution ?

(a) FPTP System (b) Quasi federal system (c) DPSP (d) Judicial Review

2. In which year Nepal adopted its latest constitution ?

(a) 2015 (b) 2022 (c) 2014 (d) 2019

3. Which of the following writ is issued when the court finds that a particular officeholder is not doing

his legal duty ?

(a) Habeas corpus (b) Quo warranto (c) Mandamus (d) Prohibition

4. Which of the following statement is correct ?

(a) Fundamental duties are justiciable in nature.

(b) DPSPs are justiciable in nature.

(c) Fundamental Rights are justiciable in nature.

(d) All of the above.

5. Choose the correct option from the options given below.

Statement I ­ Israel follows proportional representation system of election.

Statement ­ II ­ The legislature of Israel is known as knesset.

(a) Both statement (I), (II) are true.

(b) Both statement (I), (II) are false.

(c) Statement I is true, II is false.

(d) Statement I is false, II is true.

6. Who decides which constituency is to be reserved ?

(a) Election commission (b) Delimitation commission

(c) Central Vigilance commission (d) Central Information commission

7. Which system is followed for the election of President and Vice President ?

(a) FPTP System (b) Preferential Method (c) Plurality system (d) Single transferable vote

8. Who is the part of electoral college related to election of the President of India ?

(I) Elected members of the both the houses of parliament.

(II) Nominated members of both houses of parliament.

(III) Elected members of the state legislative assemblies.

(IV) Elected members of legislative council’s.
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Choose the correct code :

(a) I and II (b) I and III (c) II and III (d) All of the above

9. By which Constitutional Amendment Act, the size of Council of Minister’s was limited?

(a) 42nd Constitutional Amendment Act (b) 91st Constitutional Amendment Act

(c) 44th Constitutional Amendment Act (d) 61st Constitutional Amendment Act

10. Which of the following categories of the civil service is under the central service ?

(a) IAS (b) I.F.S (Indian Foreign Service)

(c) IPS (d) None of these

11. What is negative aspect of freedom ?

(a) Existence of condition in which people develop their talents.

(b) Absence of external constraints.

(c) Both (a) and (b)

(d) All of these

12. Aung San Suu Kyi belong to which country ?

(a) Nepal (b) South Africa (c) Britain (d) Myanmar

13. “I disapprove of what you say, but I will defend to death your right to say it” who give this statement ?

(a) Mahatma Gandhi (b) J. S. Mill (c) Voltaire (d) John Locke

14. Who among the following was an eminent socialist.

(a) Ram Manohar Lohia (b) Deen Dayal Upadhaya

(c) Adam Smith (d) Swami Vivekanand

15. In which house of the parliament, the money Bill is firstly introduced ?

(a) Rajya Sabha (b) Lok Sabha (c) Senate (d) House of Lords

16. What is the tenure of the members of Rajya Sabha ?

(a) Six (b) Five (c) Four (d) Three

17. Consider the following statements related to the High Court ? Choose the correct option ­

I : It can hear appeal from Lower Court.

II : It can not issue writs for enforcing Fundamental Rights.

(a) Only II (b) Only (I) (c) Both I and II (d) None of these

18. Which of the following state have a bicameral legislature.

(a) Rajasthan (b) Gujarat (c) Madhya Pradesh (d) Andhra Pradesh

19. What is PIL ?

(a) Public Information Letter (b) People Interest Litigation

(c) Public Interest Litigation (d) People Information Law

20. Which of the following subject is a part of concurrent list ?

(a) Foreign Affairs (b) Currency (c) Defence (d) Education

21. In which one of the following schedules of the constitution of India, is urban Local­Self Government

mentioned ?

(a) 12th Schedule (b) 7th Schedule (c) 5th Schedule (d) 10th Schedule

22. Who gave the theory of justice with the help of “Veil of ignorance” ?

(a) J. S. Mill (b) Karl Marx (c) John Rawls (d) Robert Nozick

23. Who fought against the segregation laws in the USA during the Civil Rights Movement ?

(a) Nelson Mandela (b) Abraham lincoln (c) George bush (d) Martin luther king
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24. The elected local bodies or local boards were created by the initiative of which Viceroy of India ?

(a) Lord Mountbatten (b) Lord Ripon (c) Lord Hastings (d) Lord Canning

25. Which of the following statements is incorrect regarding the definition of urban area as per the

census of 2011.

(a) A density of population of at least 400 persons/sq. km.

(b) 75% male working population engaged in non­agricultural occupations.

(c) Minimum population of 2000.

(d) None of these

26. Mustafa kamal Ataturk was related to the country :

(a) Turkey (b) Israel (c) Saudi Arabia (d) Netherland

27. How many seats are reserved for women in local government ?

(a) 1/2 seats (b) 1/4 seats (c) 1/3 seats (d) None of these

28. Article ­ 1 of Indian Constitution related to ­

(a) India is a federal country. (b) India is a semi­presidential country.

(c) India is union of states. (d) None of these

29. In which year did the supreme court gave Judgement in Keshvananda Bharti Case.

(a) 1971 (b) 1975 (c) 1973 (d) 1977

30. Which among the following committee recommended constitutional recognition for the local

goverment bodies ?

(a) Kelkar Committee (b) Swaminathan Committee

(c) P. K. Sinha Committee (d) P. K. Thungon Committee

GEOGRAPHY (31­60)
31. Geography is concerned with the description and explanation of the real differentiation and expla­

nation of the areal differentiation of the earth's surface. Who said it?

(a) Herodotus (b) Richard Hartshorne (c) Galileo (d) Erathosthenese

32. Which expert gave the nebular hypothesis?

(a) Chamberlain (b) Moulton (c) Laplace (d) Immanuel Kant

33. Who first proposed the Big Bang Theory?

(a) Georges Karl (b) Georges Lemaître (c) Kant (d) Chamberlain

34. One light­year is equal to

(a) 9.461 × 1012 km (b) 9.325 × 1012 km (c) 9.464 × 1012 km (d) 9.461 × 1011 km

35. When was the nebular hypothesis revised?

(a) 1950 (b) 1796 (c) 1920 (d) 1900

36. Which of the following is not an inner planet?

(a) Earth (b) Mercury (c) Jupiter (d) Venus

37. What is the velocity of P waves?

(a) 1­3 km/s (b) 5­6 km/s (c) 8­10 km/s (d) 10­20 km/s

38. Which one of the following earthquake waves is more destructive?

(a) Surface waves (b) S­waves (c) P­waves (d) T­waves
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39. Which one of the following describes the lithosphere?

(a) Mantle and core (b) Crust and upper mantle

(c) Crust and core (d) Upper and lower mantle

40. What is the radius of the earth?

(a) 6370 km (b) 6380 km (c) 6360 km (d) 6350 km

41. What type of earthquake is generated due to the sliding of rocks?

(a) Collapse (b) Reservoir induced (c) Tectonic (d) Explosion

42. Who among the following was the first to consider the possibility of Europe, Africa, and America

having been located side by side?

(a) Edmond Hess (b) Antonio Pellegrini (c) Alfred Wegener (d) Abraham Ortelius.

43. The collision boundaries are the result of

(a) Collision (b) Spreading (c) Transform (d) Subduction

44. The volcanic regions are called

(a) Crustal plates (b) Hotspots (c) Volcanoes (d) Continental erus

45. Where does oxidation take place?

(a) Where there are plants.

(b) Where there is moisture in air

(c) Where there is ready access to the atmosphere and oxygenated waters

(d) In mountainous regions

46. Which forces result in the wearing down/degradation of relief ?

(a) Both endogenic and exogenic forces (b) Gravitation force

(c) Endogenic forces (d) Exogenic forces

47. In our country, where do the debris avalanche and landslides occur frequently ?

(a) Western Ghats (b) Deccan Plateau (c) Himalayas (d) Northern plains

48. Which state in India has a boundary with the maximum number of states ?

(a) Maharashtra (b) West Bangal (c) Uttar Pradesh (d) Andhra Pradesh

49. Marina beach is located in

(a) Maharastra (b) Chennai (c) Tiruvananthapuram(d) Goa

50. Which one of the following latitudinal extent is relevant for the extent of India’s area ?

(a) 6°45’ N ­ 37°6’ N (b) 8°41’ N ­ 35°7’ N (c) 8°4’ N ­ 37°6’ N (d) 8°4’N ­ 35°6’ N

51. Which one of the following longitudes is the Standard Meridian for India ?

(a) 82°30’ E (b) 69°30’ E (c) 75°30’ E (d) 90°30’ E

52. Which state in India has the largest coastline ?

(a) Kerala (b) West Bengal (c) Gujarat (d) Orissa

53. Which one of the following is the largest of all the duns ?

(a) Harike dun (b) Dehradun

(c) Chandigarh­Kalka dun (d)  Nalagarh dun

54. In which part of Himalayas do we find the Karewa formation ?

(a) Eastern Himalayas (b) Himachal­Uttarakhand Himalayas

(c) North­eastern Himalayas (d) Kashmir Himalayas
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55. In which of the following states is Loktak lake situated ?

(a) Kerala (b) Uttarakhand (c) Rajasthan (d) Manipur

56. On which of the following hill range is the Dodabetta peak situated ?

(a) Andaman Sea (b) 10° Channel (c) Gulf of Mannar (d) Nilgiri hills

57. Which one of the water bodies separates the Andaman from the Nicobar ?

(a) Gulf of Mannar (b) Andaman Sea (c) 10° Channel (d) 11° Channel

58. The Mahanadi flows in

(a) Odisha (b) Karnataka (c) Maharashtra (d) Andhra Pradesh

59. Major river basin includes

(a) 16 drainage basin (b) 10 drainage basin (c) 15 drainage basin (d) 14 drainage basin

60. Which river flows throught the rift valley ?

(a) Both Narmada and Tapi (b) Narmada

(c) Tapi (d) Godavari

HISTORY (61­90)
61. The name of Mesopotamian is derived from ................... words.

(a) Greek (b) Latin (c) French (d) English

62. Sumerian language was replaced by ................... in 2400 BCE.

(a) Aramaic (b) Akkadian (c) Hebrew (d) Shimar

63. Which statement is correct regarding Ur superistitions ?

(I) Raised threashold brought wealth.

(II) A front door that did not opened to another house was unlucky.

(III) The main wooden door of a house opened outwords, then the wife would be torment to her

husband.

(a) I and II (b) II and III (c) I and III (d) I, II and III

64. In which year Alexander conquered Babylon ?

(a) 625 BCE (b) 331 BCE (c) 539 BCE (d) 610 BCE

65. Who introduced Christanity as an official religion of Roman Empire ?

(a) Augustus (b) Tiberius (c) Constantine (d) Diocletion

66. Match the following.

Column ­ I Column ­ II

I. Principate A. Antioch

II. Shapur I B. Elder the Pliny

III. Ambassader C. Augustus

IV. Natural History D. Olympiodorus

(a) I­D, II­C, III­B, IV­A (b) I­A, II­C, III­B, IV­D (c) I­B, II­A, III­C, IV­D (d) I­C, II­A, III­D­IV­B

67. Where was the Celtic Spoken ?

(a) Spain (b) Africa (c) Egypt (d) France

68. ................... was widespread in the countryside of Numidia.

(a) Mapalia (b) Transhumance (c) Fundi (d) None of these
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69. Who was proclaimed as the ‘Great Khan of Mongols’ ?

(a) Ong Khan (b) Genghis Khan (c) Mongke (d) Chaghatai

70. The Hsi­Hsia people of ................... origin ruled the north­western provinces.

(a) Tibetian (b) Chinese (c) Mongolian (d) Russian

71. Which among the following statement/statements is /are correct ?

(I) Jochi received the Russian steppes.

(II) Chaghatai was given the Transoxiana steppes.

(III) Ogodei, received ancestral lands of mongolia.

(IV) Toluy, would succeed him as the Great Khan.

(a) I, II, III, IV (b) I & II (c) III & IV (d) I, II, IV

72. In the given question two statements labelled as Assertion (A) and Reason (R). In the context of two

statements which of the following is correct ?

Assertion (A) : In the 13th Century, it appeared that the Eternal Heaven was on the side of Mongols.

Reason (R) : They were gaining new grounds and were highly successful in their war.

(a) Both A and R are correct and R is the correct explanation of A.

(b) Both A and R are correct but R is not the correct explanation of A.

(c) A is true but R is false.

(d) A is false but R is true.

73. The lord gave the knight a piece of land called ...............

(a) Fued (b) Fief (c) Tithe (d) Taille

74. Which of the following pair is correct ?

(a) Maximilian ­ France (b) Isabelle ­ Austria

(c) Henry VI ­ England (d) Louise XI ­ Spain

75. Nobles were placed in the .................... order.

(a) First (b) Second (c) Third (d) Fourth

76. St. Benedict monastry was built in .................... in 529.

(a) Burgundy (b) France (c) England (d) Italy

77. .................... was painted by Leonardo da Vinci

(a) Praying Hands (b) Mona Lisa (c) The Pieta (d) None of these

78. Match the following :

Column ­ I Column ­ II

(i) Copernicus (A) Gravitation

(ii) Galileo Galilei (B) Cosmographical Mistery

(iii) Johannes Kepler (C) The Motion

(iv) Isaac Newton (D) De revolutionibus

(a) i­A, ii­B, iii­C, iv­D (b) i­B, ii­C, iii­A, iv­D (c) i­D, ii­C, iii­B, iv­A (d) i­D, ii­B, iii­A, iv­C

79. Who wrote the Ninety ­ Five Theses.

(a) Thomas More (b) Martin Luther (c) William Tyndale (d) William Harvey

80. Choose the incorrect pair ­

(a) Thomar More ­ England (b) Erasmus ­ Holland

(c) Ignatius Loyola ­ Germany (d) Ulrich Zwingli ­ Switzerland
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81. The word ‘settler’ is used for the ............ in South Africa.

(a) British (b) French (c) American (d) Dutch

82. Which of the following statements are correct ?

(i) Cherokees were the natives of Georgia.

(ii) In 1840s there were the traces of gold in Canada.

(iii) The USA railway was completed by 1870.

(iv) In 1890, the continental expansion of railway was completed.

(a) i, ii, iii (b) i, iii (c) ii, iii, iv (d) i, iv

83. Indian Reorganisation Act was brought in ­

(a) 1928 (b) 1954 (c) 1969 (d) 1934

84. In ................, Cook was killed by native in Australia.

(a) Hawaii (b) Perth (c) Darwin (d) Sydney

85. Name the third longest river in the world.

(a) Pearl river (b) Yangtse river (c) Yellow river (d) Brahmaputra river

86. Choose the correct statement :

(i) From 1603 to 1867, members of the Tokugawa family held the position of Shogun.

(ii) Samurai were ruling the domains.

(iii) Diamyos were serving the Samurai.

(iv) By the mid­seventeenth century Edo was the most populated city in the world.

(a) i, ii, iii, iv (b) i, ii (c) ii, iii (d) i, iv

87. Choose the correct pair ­

(a) Yellow river ­ Japan (b) Mathew Perry ­ China

(c) Tokyo ­ Eastern capital (d) Meiji Constitution ­ South Korea

88. Bullet train was started in ­

(a) 1964 (b) 1849 (c) 1950 (d) 1980

89. Which of the following statement is correct ­

(a) Communist Party of China was founded in 1943.

(b) The Peoples Republic of China government was established in 1949.

(c) Cairo declaration was signed in 1921.

(d) Postdam proclamation restored the sovereignty of Taiwan.

90. Korean War was broke out in ­

(a) 1953 (b) 1949 (c) 1950 (d) 1943

ENGLISH (91­100)
Change the voice of the following sentences (91­92) and choose the most appropriate option

that is correct.

91. The prisoners have made these paintings.

(a) These prisoners have been made the paintings.

(b) These paintings were made by the prisoners.

(c) These paintings are made by the prisoners.

(d) These paintings have been made by the prisoners.
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92. The police beat a number of protestors last night.

(a) A number of protestors had been beaten by the police last night.

(b) A number of protestors were being beaten by the police the previous night.

(c) A number of protestors has been beaten by the police the night before.

(d) A number of protestors were beaten by the police last night.

Change the narration of the following sentences (93 & 94) and Choose the most appropriate

option that is correct.

93. Hans said to his friend, “I went to the School Yesterday”.

(a) Hans told his friend that he had gone to the school yesterday.

(b) Hans asked his friend if he had gone to the school yesterday.

(c) Hans asked his friend if he had gone to the school previous day.

(d) Hans told his friend that he had gone to the school the previous day.

94. The boy said, “I shall come with you”.

(a) The boy said that he would go with us.

(b) The boy said he would come with us.

(c) The boy said that if he could come with us.

(d) The boy told that if he could go with us.

Choose the clause from the given options.

95. I met him when I was in USA.

(a) adverb clause of time. (b) adverb clause of place

(c) adjective clause (d) noun clause used as a prepositional object

96. They know what has to be done.

(a) Noun Clause (b) Adjective Clause

(c) Adverb Clause (d) Adverb Clause of Purpose

97. Rearrange the following parts in the correct sequence to form a meaningful sentence :­

(i) Horizon, painting the sky in hues of (ii) As the sun dipped below the

(iii) Orange and pink, the tranquil lake mirrored (iv) The breath taking beauty of the evening.

Choose the correct answer from the options given below.

(a) ii, i, iii, iv (b) i, iv, iii, i (c) ii, iii, iv, i (d) iv, ii, iii, i

98. Select the wrongly spelt word.

(a) explicit (b) expire (c) explore (d) exploite

99. Choose the most appropriate antonym for the word.

FERTILE

(a) Barren (b) Save (c) Civilised (d) Cultivate

100. Choose the most appropriate Synonym for the word.

PRAISE

(a) Appreciate (b) Rude (c) Terminate (d) Vibrate


